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ProblemB

MultipleMorseMatches

Beforethedigitalage,themostcommon“binary”codeforradiocommunicationwastheMorse

code.InMorsecode,symbolsareencodedassequencesofshortandlongpulses(calleddotsand
dashes,respectively).ThefollowingtablereproducestheMorsecodeforthealphabet,wheredots
anddashesarerepresentedbyASCIIcharacters“.”and“-”:

A.-B-...C-.-.D-..

E.F..-.G--.H....

I..J.---K-.-L.-..

M--N-.O---P.--.

Q--.-R.-.S...T-

U..-V...-W.--X-..-

Y-.--Z--..

Noticethatintheabsenceofpausesbetweenletterstheremightbemultipleinterpretationsofa
Morsesequence.Forexample,thesequence“-.-..--”canbedecodedbothas“CAT”or“NXT”
(amongothers).AhumanMorseoperatorwoulduseothercontextinformation(suchasalanguage
dictionary)todecidetheappropriatedecoding.

Problem

WriteaprogramthatreadsaMorsecodestringandalistofwords(adictionary)andattemptsto
parsetheMorsecodeintoaphraseusingwordsthatoccurinthedictionary.Theprogram’soutput
shouldbethenumberofdistinctphrasesthatcanbeobtained.

Noticethatweareinterestedinfullmatches,i.e.thecompleteMorsestringmustbematchedto
wordsinthedictionary.

Inputspecification

TheinputstartswiththeMorsecodestring,madeupofcharacters“.”and“-”,withnospaces
betweenthem,andterminatedbytheend-of-linecharacter.

ThenextlineconsistsofthenumberNofwordsinthedictionary,andisfollowedbyNdictionary
words,oneineachline.Eachwordconsistsofupper-casecharactersfrom“A”to“Z”only.

Thenumberofwordsinthedictionaryislessthanorequalto10000andtheMorsecodestringis
atmost1000characterslong.

Outputspecification

Theoutputshouldbeasingleintegernumberrepresentingthecountofdistinctphrasesintowhich
theMorsecodecanbeparsed.Youmayassumethatthisnumberisatmost2×10
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Sampleinput

.---.--.-.-.-.---...-.---.

6

AT

TACK

TICK

ATTACK

DAWN

DUSK

Sampleoutput

2

ProblemB6UniversityofPorto–November18th,2001


